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Math 106 Section 550 Exam 3

Show all work. How you get your answer is just as important, if not more important,
than the answer itself. If you think it, write it! You should solve each problem using
the methods explored up to this point in class and the text, together with any necessary

algebra, trigonometry, or geometry, as appropriate.

1. Use Newton’s method to find approximations to a root of the function f(z) = z5-z-1.

Find z,, starting with ¢ = —1.
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2. Find the following limits:
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3. We wish to build a rectangular box with a square base and no top, out of materials
that cost 5 cents per square inch for the bottom and 3 cents per square inch for the
sides. What are the dimensions of the box with the largest volume that we can build
for $37
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4. Find the derivative of the function H(z) = / dt
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5. Find the following indefinite integrals:
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6. Find the following definite integrals:
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